SLUM REHABILITATION AUTHORITY

No: SRA/Maint. Sec./Desk-1/ 34 /2024

Date: 21-02-2024

E-QUOTATION NOTICE FOR E-TENDER

- Quotations in sealed covers are invited from the Contractors so as to reach the office of the undersigned at Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051. on or before 27 / 02 /2024 upt 3.00 p.m. for the work of Refurbishment works of name board and other necessary works like providing roofing and repairs to flower pots at road side entrance gate of Slum Rehabilitation Authority, Administrative building, Bandra (East), Mumbai-400051.
- 2. The estimated cost of the work is Rs. 9,36,034/- (Rupees Nine lakhs thirty six thousand and thirty four Only).
- 3. The quotations in sealed cover shall be addressed to the Executive Engineer Maint/SRA, Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051. The blank quotations can be downloaded from the tender section of SRA website www.sra.gov.in from 21/02/2024 to 27/02/2024 upto 3.00 p.m.
- 4. The quotationer shall quote in ink his percentage offer above/below or at par the estimated cost both in figures and words. The quotation should be submitted in a single sealed Envelope containing forwarding letter, quotation notice and duly filled Schedule-B and signed on each page.
- 5. The name of work for which quotations have been given should be stated clearly on the envelope containing the quotation and name of Contractor should be written on lower left of envelope.
- 6. The sealed quotation will be received by the office of Executive Engineer Maint./SRA, Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051. upto 3.00 p.m. by 27/02/2024 and will be opened at 3.30 p.m. on the same day as far as possible in the presence of the contractors/their representatives whosoever remain present at that time.
- 7. The quantities as shown in Schedule 'B' are approximate. The payment will be made as per actual quantity of work done.
- 8. The acceptance of quotation shall rest with the competent authority who reserves the right to reject any or all the quotations without assigning any reason for doing so.
- 9. The quotation submitted by the quotationer shall be binding on him for a period of 60 days from the last date of receipt of quotation.
- 10. No alternation in the form of quotation or schedule of quantities, specifications shall be entertained.
- 11. The entire work is to be completed within 30 days.
- 12. The work shall be carried out in accordance with I.S. specifications for the particular items and as per the detailed specifications mentioned in Schedule-B.
- 13. The rates quoted shall be inclusive of all taxes, Octroi Duty and free delivery at site of work and nothing extra shall be paid on any account.
- 14. The quotationer is advised to visit and examine the site of work and its surroundings before quoting the rate and acquaint themselves with the site conditions.
- 15. The contractor will have to make his/ their own arrangement at his/their cost for office and stores and safeguard the materials brought on the work and the materials issued by the department if any.

- 16. The contractor shall provide all labours, tools, pegs, watering and all other materials as required for line out and setting out the layout etc. for the work without claiming any payment.
- 17. After the completion of the work, the contractor shall remove forthwith all his/ their serviceable and un-serviceable materials from site of work and other debris shall be dumped and levelled as ordered within the scope of work if so ordered without any extra cost.
- 18. No escalation shall be paid to the contractor.

Sd/-

Executive Engineer

Slum Rehabilitation Authority

| Issued to: | | | |
|----------------------------------|-------------|---|--|
| M/s | | | |
| Conv to F C/SRA for information. | | - | |

Copy to A.E/ SRA, for information and necessary action.

Copy to notice board/SRA.

Copy to information technology department/SRA. For publishing quotation notice along with Abstract on SRA website



SLUM REHABILITATION AUTHORITY

No: SRA/MAINT.SEC./DESK-1/

/2023

Date:

Abstract

Subject:

400051.

Refurbishment works of name board and other necessary works like providing roofing and repairs to flower pots at road side entrance gate of Slum Rehabilitation Authority, Administrative building, Bandra (East), Mumbai-

| Sr. No. | Description | Unit | Quantity | Rates (rs) | Amount (rs) |
|------------|---|--------|----------|------------|-------------|
| 1 | Providing structural steel work in hollow section of various thickness and sizes in square, rectanular and round shape from 25mm to 450mm section as per IS 4923 YST 310 Grade produced from iron ore and blast furnace route etc. as per detailed designs and drawing or as directed including cutting, fabricating, hoisting, erecting, fixing in position, making riveted/bolted/ welded connections and painting complete | м.т | 3.313 | 124729.5 | 413229 |
| 2 | Providing and laying Cast in situ/Ready Mixcement concrete in M20 of trap/ granite/quartzite/gneiss metal for steps including steel centering, formwork, laying/pumping, compacting, roughening them if special finish is to be provided, finishing uneven and honeycombed surface and curing etc. complete. The Cement Mortar 1:3 plaster is considered for rendering uneven and honeycombed surface, only. Newly laid concrete shall be covered by gunny bag, plastic, tarpaulin etc. (Wooden centering will not be allowed.), with fully automatic micro processor based PLC with SCADA enabled reversible Drum Type mixer/ concrete Batch mix plant (Pan mixer) etc. complete. With fine aggregate (Crushed sand VSI Grade) | cu.mt. | 3.888 | 7057.05 | 27438 |

| | | | | and the second second second | |
|---|--|---------|--------|------------------------------|--------|
| 3 | Supplying, drilling/cleaning hole and fixing of Torque Controlled Expansion Anchor HST3, of sizes ranging from M8 to M24. The Anchor should be third party tested, possess ETA approval and should be pre-assembled with a galvanized bolt as per EN ISO 4042: 1999, ingenious expansion sleeve M10 and M16 (galvanized) and M8, M12, M20, M24 - Stainless Steel (EN ISO 4042: 1999), a nut of Strength Class 8 (EN ISO 20898-2:2012) and a galvanized washer (EN ISO 4042:1999). The anchor should be approved for use in Cracked Concrete. Anchor must be tested and approved as per Seismic C1 and C2 Category of TR045. ETA to have Fire Resistance values for up to 120 mins as per EOTA TR 020 and FM Approval (use in Pipe Hangers). Anchor shall be fixed at right embedment depth as per embedment mark and activated using Hilti AT Tool Module to ensure adequate torque as per manufacture's torque tolerance published in ETA and same shall be documented and submitted to Project Manager at the time of inspection. Design of Anchor should be done as per ETAG 001 Annex C and TR045 using PROFIS Software as per actual load data and site conditions as provided by structural consultant and the report to be submitted to the project manager and design engineer for | per no. | 48 | 156.45 | 7510 |
| 4 | approval. Scanning before drilling to be d Providing and fixing corrugated precoated galvanized iron sheets roofing etc complete work as directed by the engineer incharge. | sq.mt | 130 | 1301 | 169130 |
| 5 | Providing second class Burnt Brick masonry with conventional/ I.S. type bricks in cement mortar 1:6 in foundations and plinth of inner walls/ in plinth external walls including bailing out water manually, striking joints on unexposed faces, raking out joints on exposed faces and watering etc. Complete. | cu.mt. | 10.579 | 8142.75 | 86142 |
| 6 | Providing sand faced plaster externally in cement mortar using approved screened sand, in all positions including base coat of 15 mm thick in cement mortar 1:4 using waterproofing compound at 1Kilogramper cement bag curing the same for not less than 2 days and keeping the surface of the base coat rough to receive the sand faced treatment 6 to 8 mm thick in cement | sq.mt | 111.36 | 670.95 | 74717 |

| Say Rupees 9,36,034/- | | | | | | | |
|-----------------------|---|-----------|-------|----------------|----------|--|--|
| | | 936033.94 | | | | | |
| | | | | SGST 9% | 71392.42 | | |
| | | | | CGST 9% | 71392.42 | | |
| | aujo oto. complete | 793249.10 | | | | | |
| 8 | Providing and applying two coats of water proof cement paint of approved manufacture and of approved colour to the plastered surfaces including scaffolding if necessary, cleaning and preparing the surface, watering for two days etc. complete | sq.mt | 55.68 | 82.95 Total | 4619 | | |
| 7 . | Providing weathered pointing with cement mortar 1:3 for stone/ Brick masonary including scaffolding and curing etc. complete. | sq.mt | 55.68 | 187.95 | 10465 | | |
| | mortar 1:4 finishing the surface by taking out grains and curing for fourteen days scaffolding etc.complete. | | | | | | |

| | I/We hereby agree to quote | | | | % Above/Below or At Par with the estimated cost | | | | |
|-----|----------------------------|-----|---------|------------|---|--------|--|-----|--------|
| put | to | the | tender. | Therefore, | the | amount | | (in | words) |
| | | | | | | | | | · |

Sd/-

Executive Engineer

Slum Rehabilitation Authority